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MATLAB

[pc, score, variance, t2]=princomp(X)
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percent-v = 100*variance/sum(variance);
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zcf.m

pc= 0.9998 0.00/71 -0.0179 -0.0091
0.0082 -0.0055 -0.0469 0.9989
0.0184 -0.0249 0.9984 0.0466
0.0066 -0.9996 -0.0247 -0.0067

variance = 1.0e+003 *[ 7.9046 0.47/86 0.0522 0.0004]

t2 =[ 2.9602 3.2317 1.5008 9.6644 3.2463 2.6023 2.0675
3.9587 5.1659 2.3459 1.47/89 4.9255 5.5928 8.4165
1.7758 1.0442 4.3163 4.2880 3.8299 3.5884]

R= 1.0000 0.6950 0.2195 0.0249
0.6950 1.0000 -0.1480 0.1351
0.2195 -0.1480 1.0000 0.0713
0.0249 0.1351 0.0713 1.0000



score = -98.2666 15.0539 -7.8344 0.2006
-128.1984 4.8485 -7.5223 -0.0946
-17.9323 -14.5758 -2.0656 0.6464
111.8154 36.1911 1.7700 1.5374
-18.0019 -14.4790 -6.0827 0.9595
-127.9383 -15.3188 -1.0280 0.0971
-97.8856 -5.2821 5.6958 -0.2805
132.1077 -23.5196 -5.0403 0.2205
142.0644 -23.3965 -7.1924 -0.4626
32.0482 -24.1200 -7.2001 -0.0597
42.0113 -4.1837 -1.9154 0.7167
-7.6292 -14.9231 14.7760 0.3492
81.9100 16.02/8 0.9537 -1.3687
22.5176 -24.8297 19.0082 -0.2560
81.9285 6.1005 -2.3359 -0.5769
1.9875 15.3860 5.3551 -0.0055
81.7933 26.0963 -1.8177 -0.9418
-98.3136 34.9280 -2.3006 -0.4308
-117.8791 -25.2419 -1.4306 -0.5601
-18.1390 35.2379 6.2072 0.3100



Z=zscore(X);
7 Z, Z, Z;
pc= x, -0.7000 0.0950 0.2400 0.6659
X, -0.6898 -0.2836 -0.0585 -0.6636
X, -0.0879 0.9042 0.27/03 -0.3189

x, -0.1628 0.3050 -0.9305 0.1208
sScore

variance =[ 1.7183 1.0935 0.9813 0.2069]

t2 =[2.9602 3.2317 1.5008 9.6644 3.2463 2.6023 2.0675
3.9587 5.1659 2.3459 1.4789 4.9255 5.5928 8.4165
1.7758 1.0442 4.3163 4.2880 3.8299 3.5884]

Mean 138.0 2.325 15.0 35.5
Std 88.887 1.055 7.4197 21.8/88
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Z, = 0.095x, — 0.2836x, +0.9042x, + 0.305x,
Z, = 0.24x, —0.0585x, +0.2703x, ~0.9305x,
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1 BT BT A K FAR R R E BT R E I LR iR BR R

BE x(HE %(E® N, NIER %5 (M X (¥ L (B (8 % (A X (F
g & BaiEd WER B iE ) B i) RED gkt #r #) 1 24)
1 Lo -0.857 -0 454 -0 464 -0 .497 -1.279 -0.029 -0.363 -0 . 486 -0 .804 -0 .598
2 M¥H -0.547 -0 314 -0 370 -0 439 -0.527 -0.029 0 .603 -0 . 486 -0 .633 -0 578
3 Foh -0.392 -0 .035 -0.114 -0 362 0.46] 0.263 -0.363 -0 . 486 -0 .804 -0 .198
3 LB 1.547 0 .943 1.673 -0 .09] -0.0586 0.54% 0 .363 -0 .400 0.262 2.388
5 higH 0 .462 0.384 0.003 -0 008 0.649 0.556 0 .548 -0.187 -0 .249 -0 186
¢ RAH -0 .663 0.384 -0 499 0.035 2.131 -1.199 -0 .54% -0 .486 -0 546 -0 578
7 W16 -0.857 -0 593 -0 680 -0 439 -0.580 -1.119 -0.54% -0.315 0.731 -0 316
8 BFiLHr -0.547 -0 593 -0 457 -0 401 -0.174 -1.199 -0 .54% -0.359 1.584 -0 226
9 58 -0.302 -0 454 -0 170 -0 323 -0.597 -1.199 -0.548 -0.315 1.967 -0 326
10 § & -0.353 -0 593 0.283 -0 342 -0.715 -1.199 -0.548 -0.187 2.138 -0 196
11 ¥ &5 -0.120 -0 454 0.102 -0 187 -1.350 -0.029 -0.12] -0 .400 -0 .633 -0 556
12 HERHF -1 .051 -0 593 -0 681 -0 420 -0.433 -1.199 -0.54% -0 .443 0.902 -0 238
13 HEHH -0 081 -0.175 0.542 0.011 0.955 0.556 0 .363 -0.400 -0 .633 -0 378
14 BETE -1 .051 -0 454 -0 470 -0 434 0.367 -0.029 -0.6035 -0 .443 -0 93] -0 616
15 B —¥F 3 .215 4.015 3 .695 0.253 1.168 1.726 .12 -0.315 -0 .79 2.448
16 = H ¥ 0.384 -0 035 -0 420 -0 299 -0 .997 1.433 -0 .363 -0 .443 -0 676 -0 598
17 N 0 .617 -0.175 -0 383 -0 .357 -1 .491 1.433 .12 -0.400 -0 676 2.198
13 FOkK -0 .547 -0 454 -0 594 -0.100 -0 .388 -0.907 =0.121 1.474 -0 548 -0 636
{ 19 B mE 0.229 -0 134 -0 .493 0.142 0.790 -0.029 1.090 1 .474 -0 546 -0 638
20 H IV 1.004 -0 035 -0 493 4.258 1.968 1.433 3 .512 3 604 1.072 -0 188
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R=corrcoef(X)

1 R

1.0000 ( 0.8674 ) 0.8360 )0.3622 0.3367 0.4569 0.1938 -0-0122

1.0000 0.9042 0.1324 0.4219 0.5451 0.1631 -0.0525 -0.1275 0.6806
1.0000 0.0136 0.2503 0.4716 0.0642 -0.1767 0.0336 0.7271

1.0000 0.3914 0.1842 0.0227

1.0000 0.2055 0.4932 0.4270 -0.1381 0.0155

1.0000 0.5980 0.1904 -0.3940 0.5424

1.0000 0.7934 -0.0949 0.1019

1.0000 0.1053 -0.1413

X1,X9,X3,Xg: X1 1.0000 0.0537
1.0000




2 R

variance = 4.6031 2.9169 1.3024 0.8673 50.2516 0.2407 0.1097
0.0639 0.0501 0.0167 |

92.97%,



3

z,= 0.453 ,+0.391 ,+0.354 ,+0.275 ,+0.245 .+0.38 +0.312 .+

2,=-0.142 ,-0.266 ,-0.34 +0.461 ,+0.222 .-0.02 +0.412 +
0.511 ,+0.048 4-0.318

2,=0.088 ,+0.026 ,+0.164 .+0.162 ,-0.053 .-0.355 ,-0.102 -+
0.108 ,+0.873 4+0.158

2,=-0.094 +0.31 ,+0.188 ,-0.016 ,+0.741 .-0.399 +0.206 -
0.077 ,-0.11 ,-0.303
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(A7, + 4,2, + 42, + 442,)



Z, Z, Z, Z,
-1.5617 -0.3688 -0.9731 -0.7338 ~1.0494 17

-0.8432  0.1202 -0.9083 -0.3653 -0.5192 10

-0.3503 -0.3487 -0.9751  0.4668 -0.3649 7

2.7204 -1.9184  0.6527 -0.7517 0.7396 2

0.8939  0.2514 -0.5317  0.2199 0.4486 3

-0.7640  0.2122 -0.6039  2.5833 -0.1490 5

-2.0988 -0.2478  0.8159  -0.2530 -0.9846 16
~1.7475 -0.2013  1.6310  0.1972 -0.6539 13
~1.6472 -0.3429  2.0538  -0.0495 -0.6141 12
-1.5009 -0.4680  2.3146  -0.1659 -0.5576 11
-0.6195 -0.1772 -0.6743 -0.1004 -0.4473 8

-2.1082 -0.1929  0.9544  0.0945 -0.9228 15
0.4687  0.1046 -0.8578  0.6407 0.1962 4
-1.2986 -0.0216 -1.1534  0.5675 -0.7277 14
6.1050 -3.3352  0.6344  1.0350 2.0741 1
-0.1401 -0.5177 -1.2313 -1.1071 -0.4870 9
0.9488 -1.2404 -0.8150 -2.1838 -0.2277 6
-1.0552  1.1410 -0.4953  0.0353 -0.2212

0.5226  1.7637 -0.8608  0.3481 0.6947

4.0756  5.7879  1.0232 -0.4778 3.7732






